Estrutura do DNA:

http://www.biocourse.com/mhhe/bcc/resources/concept.xsp?id=000012115&type=MOVIE
DNA is composed of 2strand nucleotides, bound around one another in a double helix. The outer longitudinal structure consists of alternating sugars and phosphate groups. Pair of nitrogen bases, are in the interior of the molecule. If the molecule unwise its structure resembles a leather with phosphates and sugars forming the sides: The rungs of the nitrogen bases of nucleotides on opposite sides of the leather. There are 4diferent bases and only certain pairs are possible in forming the rungs (degraus). Adenine its always opposite to Timine, and Guanine its always opposite to Timine. These complementary pairs of nitrogen bases, lay next to one another because their sugar phosphate change run in opposite directions. This antiparalel orientation of the 2nucleotide strands, brings the bases into position, of the hydrogen bound formation . The sides of the leather are twisted in a spiral fashion and make a complete turn every 10 base pairs.
Transcrição:
http://www.biocourse.com/mhhe/bcc/resources/concept.xsp?id=000012179&type=MOVIE
Transcription its the process by which RNA is assembled from a DNA temple. The 2strands of the DNA double helix are heled together by bouds between complementary base pairs. DNA incodes genetic information in bases along one trand. . The portion of the DNA molecule that is a single gene or coding region is bounb by termination or promoter sites. 

A molecule of RNA polymerases binds to the promoter sites . it moves along the DNA separating the 2strands of the double helix. Each now unpaired bases will by to a nucleotide in the scenery with complementary base. In the synthesis of RNA , Uracile is the nucleotide complementary to Adenine. This process ceases when RNA polymerase reaches the polimeration site. The DNA strands bind one another once again as the new RNA molecule moves away. This RNA it’s a copy or transcript of the message contained in the gene.
Maturação:

Tradução:

http://www.biocourse.com/mhhe/bcc/resources/concept.xsp?id=000012181&type=MOVIE
(mt escuro…)

Translation is the process by which the information contained in mRNA is used to direct the synthesis of a polypeptide. This information is carried in a sequence of bases on the mRNA molecule. The polypepetide can be assembled once RNA binds to a ribosome. Rib consists in large and small subunits. The large subunits has 2binding sites for transferRNA, the P and A sites. Transfer RNA carries an aminoacid which will be incorporated in the polypeptide. Its anticodon it’s a triple complementary to the codon on mRNA that specifies that particular aminoacid. A ribosome assembles on the start codon: AUG. tRNA with the anticodon UAC and carrying the aminoacid Metionine , binds to the codon. The tRNA is in the P site of the Ribossome, the A site its available for a second tRNA with an anticodon complementary to the second mRNA triplet. The aminoacid carried by the second tRNA binds to the Metionine . The first tRNA leaves the P site and the second t RNA moves there, still bound the mRNA. This brings the third mRna codon to the now empty A site and the appropriate RNA can bind to it. The third aminoacid is added to the chain and translocation occurs once again. This process of polipepetide chain elongation continues until the stop codon is reached. A release factor binds to the A site, it carries no aminoacid but facilitates release of the polypeptide and the mRNA from the ribosome. 
Mitose:

http://www.biocourse.com/mhhe/bcc/resources/concept.xsp?id=000012141&type=MOVIE
Mitosys is the process by which the contents of the eucariotic nucleous  are separated into two genetic identical packages. Cromossomes replicate prior to the beginning of mitosys. As mitosys begins, they condense and become visible under a light microscope. They appear as sister cromatides joined at the centrometer. Mitosys is ddivided into 4stages. During Profase the nuclear envelope desintegrates and the spindle of microtubules forms. Centriols may help organise the spindle as in this animal cell. The cromossomes beggin to move toward the mid plan of the spindle. When they are in the mid plain with centrometeres attached to the spindle fibres, the second stage , Metaphase, as been reached. Metaphase hills to Anaphase as Centrometers separate and the sister cromatides, now turn chromosomes. Our pode are to opposite polls. During the final stage, Telophase, an nuclear envelope forms around each central chromosomes. The spindle disappears and the chromosomes decondence. The result is 2 nucleon, each with an identical central chromosomes. 
